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KLKER[R.FICRDNEEDZEER(TRECEELET,

OO HBTEIRBACGEE. AR, REF)EEEL. ChziLilS
ZITLT KROEmFEFOEEZRLTVEY,

CHOEIFITHTORRREAEFTLOHTLET,
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2 1F W I

A Al =
(4 F064F)
X Z
27 @A B E (m/s) & 2 (C) = B
ga N\l T 8| F 19 |sxmm|REE| T 8|8 &|2RE| & & |2ga|
18 |/dedE| 3.2 19.8 15 5.7 15.5 18 -4.4 12 32.0
28 |#EdF| 3.0 25.4 27 6.8 22.6 20 -2.7 7 50.0
38| A 34 23.0 18 8.7 273 31 -1.7 11 130.5
41 |ikFE| 25 25.5 9 16.8 30.8 28 5.3 11 67.5
58 |@mdtdm| 24 15.8 29 19.8 32.5 24 8.5 10 132.5
68 |mmE| 22 11.1 9 23.8 35.2 24 14.8 3 152.5
78 |#@Ededm| 2.1 16.2 27 28.8 40.0 29 219 17 74.0
8H 2] 25 19.8 24 29.8 39.0 17 234 31 321.0
9H 2] 20 10.9 11 26.7 36.5 15 17.2 25 46.5

108 |#&ikFE| 1.9 18.6 20 19.9 319 2 9.7 21 141.0

118 |f@ikdE| 24 16.1 17 13.0 241 17 1.5 29 66.0

128 |#iLFE| 26 15.6 14 6.8 18.8 4 =2.7 29 0.0

T E 1213.5
XIDRIFEAMARREICLIEHBEELT S,
BB S & 18 # I
=% BB (%) =R E (%)

53 Tty & /N ERked= Ty & /N ERkEd=
1H 51.1 18.0 12 51.7 43.6 18
2A 61.0 17.7 12 60.0 440 4
3A 56.0 9.1 16 55.2 429 19
4R 67.8 18.0 20 67.0 54.6 20
5H 66.9 18.6 25 67.0 56.7 25
6 A 73.4 252 17 72.7 66.3 15
78 76.0 98.8 17 76.8 64.6 30
8AH 78.4 36.1 17 76.3 65.0 1
9AH 50.3 325 7 80.8 75.6 26
10R 79.7 33.3 20 80.1 69.7 22
11A 66.7 219 28 67.6 59.8 30
12R 53.0 21.3 14 535 47.8 25
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ARl KR EEHEXEKRA B KR ($HexE)
_ AR g |20 ]sm |48 |58 |6m |78 |8 | om |10a|11A]12A] &
RE 0
Z KW 0
]|k 0
ES 1 1
PN 2 3 8 2 15
E5 11 4 6 5 6| 10 26| 28/ 18 3 3 110
. SR 8l 71 9 2 1 2 2[ 3] 2 36
& oK 4 4
- 73 18 6] 13 17 54
= ES 2[ 1 3
BE 2 1 3
]
=% 1 5( 5] 8 1 1 3 1 5( 4] 1 35
= gl 3 1 12
KR 0
AREFICETS 0
T |BFICETS 0
D ([EHE 0
fit |Z& 0
D |EFICETS 0
1F ERICEET 5 0
#} [BRICETS 0
FALEREVY 0
& &t 28| 27| 43| 18] 9| 13| 32| 42| 21| 10| 10| 20| 273
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